Ch. 19 & 20 Worksheet
Acids & Bases

1. What is the difference between an Arrhenius acid and a Bronsted
acid? An Arrhenius base and a Bronsted base?
2. Hydrogen ions react with water molecules to form what ion? n
What is the ion's formula?  }4 07 fal b
4. What is produced when you put an active metal into an acid? b ¢ ,(‘
5. Complete and balance the following: Al(s) ©.HNOs(aq) > 22 Hz + A V(MO 3)3
6. What is produced when you react an acid with a base? Hao + < alT
7. Complete and balance the following:9HN03(aq) + Mg(OH)(s)=> ?? HZU ¥ M@ (NU{)Q
8. What is produced when you react an acid with a carbonate? p-.d + (oo * sal ( u-)
9. Complete and balance the following?' HNOs(aq) + MgCOs(s) > ?? hpo ¥ <é v g% )2
10. What effect does a base have on pink litmus paper?
blue litmus paper? Would an acid have the same effects?
11. How do acids taste? bases?
12. What is the difference between a strong acid and a weak acid?
List the 3 most common strong acids. H¢L ) H M3 H 280
13. For the following reactions, label each substance as a
Bronsted acid or base. Indicate which substances are conjugate
acid-base pairs A ? A @ B /=
a) NHsz + Iﬁzo <> NHs* + OH; b)) HCl + H,0 < CI + H30™;
C) NQZ_ + H30" <> HNO, + ‘Elzo; d) HNO; + H‘gO3_ © _CO3 + NO3
14, Water canf};uct both 35 an afid and a b@se. What islg}jis alled? Q\BMP hy 401 €
15. For any aqueous solution, [H]x[OH] = ? 1» 107
17. For aqueous solutions: -
a) if [H+] = 2.5 x 10° M, then [OH-] = ? Is it acidjc or basic? Yy
b) if [OH-] = 7.5 x 10" M, then [H+] = ? Is it acidic or basic? +:3* 1,
c) if [OH-] = 7.5 x 10.4 M, then [H+] = ? Is it acidic or basic? }.% Ald
18. Calculate pH for the following and state whether the solution
is acidic or basic:
A Ul a) [H+] = 2.5 x 10° M; b) [OH-] = 7.5 x 10710 M; HA A bl 4
247 ¢) [H+] = 2.0x 10-9 M; d) [OH-] = 1.0 x 107 M1 n&/™ 4 C> 3,2 y10"
19. Calculate [H+] if pH = a) 1.5; b) 4.0; ©) 7.5 ) »02 ) 110 .
20. 1f pH = 6.5, calculate: a) pOH; b) [OH-1ay7-58) 32078 4 L5, ¢ ) 1,5 x 10
21. If pOH = 8.2, calculate: @) [OH-]; b) pH; ¢) [H+] a)é3x 10
22. What equation is used to solve titration problems?mvVzmyv c15m L)
R - ¢
23. It takes 5.25 mL of 3.00 M NaOH(aq) to neutralize M (,90 mL)-’ (%/‘\3(
50.0 mL of HCl(aq). What is the molarity of the HCI? EREL M
24. 40.0 mL of NaOH(aq) is titrated with 6.00 M HNOs(aq).
It takes 5.00 mL of the acid to reach the end point.
What is the molarity of the NaOH?
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